Factor Groups

Definition: Let G be a group and H be a normal subgroup. Let G/H be the set of left cosets of H in G. Introduce a multiplication on left cosets by the rule

Proposition: If G is a group and H is a normal subgroup, the operation on cosets given by (aH)(bH) = (ab)H is well-defined and makes the set

$$(G/H) = eH$$
of cosets into a group. The identity element is H and the inverse of
 aH is $a^{-1}H$.

$$(aH)(eH) = eH \cdot aH = eaH = eH$$

$$(aH)(eH) = eH \cdot aH = eaH = eH$$

$$(GH)(e^{-H}H) = eH \cdot a^{-1}H \quad looks like inverse.$$

$$H = eH = hH \quad fn \quad ang \quad LeH. \qquad XH = gH = DX = gh$$

$$G = S_{g} \quad H = \sum_{i=1}^{n} r_{i}^{-a} \frac{1}{3}$$

$$SH = rSH \quad rS = Sr^{-1} \quad r_{i}^{-a} eH$$

$$(SH)(rSH) = SrSH \quad SrSH = Sr^{-1} erH$$

$$(SH)(rSH) = SrSH \quad SrSH = H$$

$$(cH)(rSH) = SrSH \quad SrSH = H$$

$$(cH)(rSH) = SH = S^{-1}H = S^{-1}H = S^{-1}H = H$$

$$(eH)(eH) = acH = \frac{2}{5} \text{ bd}H$$

$$(eH)(eH) = bh_{1}dh_{2}H = bh_{1}dH = bh_{1}(Hd)$$

$$H = dH$$

$$(eH)(eH) = bh_{2}dh_{2}H = bh_{1}dH = bh_{1}(Hd)$$

$$H = bHd$$

$$= bHd$$

Basic Examples

•
$$G = \mathbb{Z}$$
 and $H = n\mathbb{Z}$. $n \ge 1$
 $G = \mathbb{Z}$ below, H is normal.
 $Cosets = of H = coset = (f = a \neq a' \mod n)$ [duison algorithm]
 $a + n\mathbb{Z} = a' + n\mathbb{Z}$ if $a \neq a' \mod n$ [duison algorithm]
 $a + n\mathbb{Z} = a' + n\mathbb{Z}$ if $a \equiv c' \mod n$.
So G/H has $n = coset = n\mathbb{Z}$ [$t + n\mathbb{Z} = 1$] $t + n\mathbb{Z}$.
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$.
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (1 + n\mathbb{Z} = 1) + 7\mathbb{Z}$
 $(5 + 7\mathbb{Z}) + (6 + 7\mathbb{Z}) = 4 + 7\mathbb{Z}$.
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$
 $(a + n\mathbb{Z}) + (b + n\mathbb{Z}) = (a + b) + n\mathbb{Z}$
 $(a + n\mathbb{Z}) = (b + n\mathbb{Z})$ $[c] = [c] \oplus c = c = c \mod n$
 $[c] = a + n\mathbb{Z}$ $[b] = b + n\mathbb{Z}$ $[c] = [c] \oplus c = c \mod n$
 $[c] = c + n\mathbb{Z}$ $[d] = d + n\mathbb{Z}$ $[b] = [a] \oplus b = d \mod n$.
 $[a + c] = [b + d]$
 $b \equiv \partial \mod n \mod n$.

•
$$G = \mathbb{Z}_{n}$$
 and $H = d\mathbb{Z}_{n}$ where d is a divisor of n .
 $G = \mathbb{Z}_{n}$ d is a divisor of n .
 $C = \mathbb{Z}_{n}$ $d\mathbb{Z}_{n}$ $d\mathbb{Z}_{n}$
 $d\gamma = \{\circ, \circ, \circ, \circ\} \in \mathbb{Z}_{n}$ $d\mathbb{Z}_{n}$
 $d\gamma = \{\circ, \circ, \circ, \circ\} = \mathbb{Z}_{n}$ $d\mathbb{Z}_{n}$
 $d\gamma = \mathbb{Z}_{n}$ $d = 2$ $d\gamma = \{\circ, \circ, \circ, \circ\} = H$
 $|G| = 6$ $|\langle d\gamma | = 3$
 $\langle d\gamma = H$
 $|+H = |+ \langle d\gamma | = \{1, 3, 5\}$.
 $\langle d\gamma = \mathbb{Z}_{3} \leq \mathbb{Z}_{6}$
 $\mathbb{Z}_{6} / \langle d\gamma = \mathbb{Z}_{2}$.
 $G = \mathbb{Z}_{n}$ $\langle d\gamma | = \mathbb{Z}_{2}$,
 $G = \mathbb{Z}_{n}$ $\langle d\gamma | = \mathbb{Z}_{2}$,
 $G = \mathbb{Z}_{n}$ $\langle d\gamma | = \mathbb{Z}_{2}$,
 $G = \langle d\gamma | has n \setminus \delta$ cluments
 $G / \langle d\gamma | has n \setminus \delta$ cluments
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $\langle d\gamma | has n \in d$ cluments.
 $f = (i + \langle d\gamma |) + \langle d\gamma | = 1$
 $\langle d\gamma | d\rangle$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $\langle d\gamma | d\rangle$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma |) + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle d\gamma | + \langle d\gamma | = 1$
 $(i + \langle$

• $G = D_n$, for $n \ge 3$, and H is the subgroup of rotations. G has an element H has n etts, G H has a element. $H = \{e_1r, \dots, r^{n-1}\}$ $sH = \{s, sr_1, \dots, sr^{n-1}\}$ H = H, H = H, H = SH ; SH. sH = H.